L1 71&- Y dFFAn(d3zol D) A U9

Az 5 AR AU g
2014/04/02 45,000 S5l BAK BRE
2014/04/03 61,000 SEHUSZAT SUZH 30 B2 YLEIY)
2014/04/04 257,000 S32ER HAAY
2014/04/04 71,260 SUUY 20 RUIZH 230l [HE SREFY|
2014/04/07 50,000 H YRS R Ay 2E =93
2014/04/08 156,000 SHUS2HT LR
2014/04/08 50,000 THIIEA IE A28 L4400 D2 Sstaz 2
2014/04/08 100,000 U2 MY 202
2014/04/10 50,000 HSY25He MY 203
2014/04/10 59,000 SHNSBAN A2
2014/04/11 36,000 SEHUSTAHL SN B30 B2 YRFEXY|
2014/04/14 36,000 SEUEBAR 2B
2014/04/15 177,000 SETEE
2014/04/16 40,000 23020 ST 20 BHE YR
2014/04/18 35,000 2R Hy
2014/04/21 69,750 2014 OIEHAEIE ClUMARE ALE
2014/04/22 80,000 I3 22 HyY
2014/04/23 84,000 SHUSBAHN Y2
2014/04/25 50,000 X QIZAF &2t 2554 I8 222
2014/04/28 51,000 SHOEQ ST 230 OE YRETY|
2014/04/29 36,000 SRR
2014/04/30 89,000 A=A A=y
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